Inverses of Relations and Functions

Name _______________________________

1. A tree is 18 inches tall. Every year it grows 4 inches. Write and graph the equation with height as a function of time. Label the axis. (use a T chart and find 3 points)
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Take the inverse of the function. Write the time as a function of the height. Graph the new equation below with labels on the axis. (when you graph this one use the y values you got above as your x values here) 
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2. On the average a baby starts as 19 inches tall. It then grows on the average of 3 inches a year (science is not too good here). Write the equation and graph. The baby’s height is an average of his age.
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Take the inverse of the equation above. Rewrite the baby’s age as a function of it’s height. Graph it on the graph below. Label the axis.
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3. Mike belongs to a fishing club He pays $75 plus $3 for every fish he catches. Write his cost as a function of the number of fish he catches. Graph the equation and label axis.
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Take the inverse of the equation above. Rewrite the equation with the number of fish caught is a function of the cost.  Label the axis.
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4. Fred’s car starts 50 miles away. Every hour it is 30 miles further away. Write and graph the equation with the miles away being a function of time. Label the axis.
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Take the inverse of the equation above. Rewrite the equation with time being a function of the hours away. Graph the equation and label the axis.
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